X & IEH a5 MEZRR B2 (Y)
R )% 1% _Ei  FpENERFREFH SEERKIEER
ekt _Ei  FBENERFRSFY B CERLTPEGVH)
21 =5 _Bl FpENERFAETH BETHRELZ TR
REIE _Ei  HENESFRSFHY BEDPEHRELEHE
X & IEH a5 MEZRR B2 (Y)
=I5 _El  FpENERFRYSH REBBRERER
PR K _Ei  HENESFRUFH PEEBEHREZINR
Ear B 62 _El  HpENERFRYSH BETHRELZ TS
PR IBH #a 5l MERR ¥ (Y)
et _Ei HEE-_F85FH4 PEEBEHREENR
FEH _EBElf HEE=F485F4 BETHRELZ TR
AT _Ei HEE-_F85FH4 BEDPEHRELEHE
AT _EBElf HpEE=F485F4 PEEEHREEN
=nE _Ei HEE-_F85FH4 BEDPEHRELEHE
R E _Elf HBEE=F485F4 WD
BRZE= _Eif pEEZ_F85FH M50 p 2
BRIAE _Ei HBEE-—F85F4 BEDPEHRELZHE
2= _Eif pEEZ_F85FH4 PEEEHREENR
RrE _Ei HBEE-—F85F4 PEEEHREEN
SRR _Eif pEEZ_F85FH4 =2 RNIEER
EE _Ei HEE-—F85F4 BEPHRELZHE
B _Eif pEEZ_F85FH BEDPEHRELEHE
BEXA _Ei HBEE-—F85F4 PEEEAREER
i 55 B8 _Eif pEEZ_F85FHY BEPEHRELEHE
X H IER 25 N w4 (Y)
oM _Ei  HE-E=—FHUFHY REBEBEERER
BERE _Eik pEE_FR8UFH R CELTPECPH)
RER _Ei  HE-E=—FHUFHY BEEDPEHRELZHE
SERZ M _Ei pEE-_FRUFHY HEPEFEYERE
el i) _Ei  HE-E=—FHUFHY REBEBEERER
Vine i) _Ei  pEE_FRUFHY EENENR
ind _Ei  HE-E=—FHUFHY BEETEHRELZHE
ZRIEN _Ei  pEE-_FRUFH HEPBFELERE
F2HE _Ei  HE-E=—FHUFHY BEETEHRELZHE
FigE _Ei pEE-_FRUFHY REBEAEREN
EEMR _Ei  BE-E=F8UFHY EXCERLETREGVH)
SR _Bl HEE=FHRYSHY REBEAEIREN
ZHA _Ei  HEE=—F8UFHY EEHEN
TRH _Bl HpEE=FHRYSHY BEPHRELZ TR
MERE _Ei  HEE=—F8UFHY EEHEN
IS _Bl HEE=FHRYSHY BEPHRELZ TR
FIKE _Ei  HEE=—F8UFHY PEEEHREENR
ERR _Bl FBEE=FHRYFYEH FOCRETP2E(VH)
PRZE[E] _Ei  HBEE=—FHUFHY BEDPEHRELEHE




| =xm | —=u be-z-eguers ozzszsssn
Pt EE 425 MEER B (Y)
= %47 — = NEAERBEFE | EERRRORER e
fay 48T — =k INBANERBF A EREEMNE
=T — = INBAERBFE SR E E 5
RS — =k INBANERBF A = ALK E )2
% —=h INEBAERBFE Bl EEE e
e — = INEANELRE TR (R BT/
Pt EE 425 MEER B (Y)
= —=h NEAERLFE | EERRORERe e
1555k — =k NENERLFE | BEEgEsnese) e
=18 — =k INEANERLFE | IEEaaE B e
Paia — = NENERLFE | BEEgEsgese) e
EEH — =k INBAERLFE RS EEHE/E
RE — = INEBANERL TR B\ e R
2127 — = INBAERLFE 50\ @ L) B
Pt EE 451 BEER B (Y)
B — =k NEREREFE | BBy eRe e
SBELR — =% NERERBFE (R BB\
BN — =k NERERDFA Sl mEE e
REF 4 —=p NERERBFE (R BB/ 2
2IEE — =k NERERBFA EREENNE
@ —=p% NERERBFHE EEEEN B
BE — =k NERERBFA MBPABER
BT — =% NERERBFE B\ EEIRE A/ B
s — =k NERERBFA REBET /N
=E5 — =5 INBRERBF A B\ S ) B
= 4L8F — =k INEBRERBFE MBPABER
=E1E — =5 INBRERBF A NEPABEL
7R — =k INERERBFE RE BT/
s — = INBRERBF A EEEEMNE
wEah — =k INERERBFE S e
P3Ot EE 425 MEER B (Y)
255 £ — =5 INEREH L FE TAET
H—= — =k NEBRERLFE | EBRRRHHGRY ) \a
T — = INEREH LT EEEEMNE
S — =k NEBRERLFE | EERRORERe e
BB — =% NERERLFE | BEERRNHER a8
EER — =k NEBRERLFE CRATDERR SIS S
B — =% INBRERLF e
SHE 7 — =k NERERLFE | EERRORERY e
S5 — =% NERERLFE | BEERRNHERe\E
e — =k NERERLFE | EERRORERY e
=R — =% INBRERLF RE BTN




PR IEH a5l RS ¥ (Y)
EPN:E —_EBk NBINFRSFAE BEREEME NS
5 #ERR —EBk NBIFRE T H REEBRI{LC/NE
SBEEE —_EBk NBNMFERSEFE | EERENHIZELY 2
HEE —_ B NBNFRSEFHE KNIFREERUER
RIAE —_EBk NBIFRSFAH AREHNE
BRAE B _E NBNFERSFHE |IEREEAZSHIOELCT/NE
RERE —_ 5Bk NBMFEREFEH | IBBBEAZHIORLCTNES
X R IEH 2 5 N w4 (Y)
TR _E NBIFRYFAH IEfEtERE TS /\2
EPRIH —_ 5Bk NBINFRLFAE EZZEER
EE ] _E NBIFRYFAH IEfEtERE T /2
BEE —_ 5Bk NBNMFRLFE | BEEHRENHIZERLY 2
BRAI A _E NBIFRYFAH FEEBRS{LC/NE
R —_ 5Bk NBINFRLFAE BIEE /NS
Esili _E NSNFERLFH | BERRNAGRYELNS
O ES - NBIUF R F4H IefERERE T2/ )\ 2
B —_E NBIFRYFAH REBERTLC/NE
EiRE —_EBk NEBNFRLFE B AU PERKREERE/NE
EESE —_E NSMERYFH | IBBBEAZHORCTNS
1A —_EBk NBNFRLFAE BIEE /NS
EBIE _E NSMERYFH | IBBBEAZHORCTNS
FNE - NBIUF R F4H HaREHNE
=15 —_E NBIFRYFAH REBERTLC/NE
FEE - NENFRLFAE EREEL/NES
X H IER 25 N w4 (Y)
Bai= —_EBk NS=FREFH REBERTLC/NE
TRER —_Ek NB—FRBEFH EREMBSH/NE
g4 —_EBk NS=FRBEFH | IBBREAZHIORLCTNS
NS —_Ek NB—FRBEFH REBRS{C/NE
i B 3 —_EBk NS=FREFH BEZZEER
X —EBk NE=FRBEFH AV PERREEHRE/NE
hXit# IEH #a 5l FEEER 4 (Y)
EI5 Y —_E INB=FRUFH REBERTLC/NE
=88 _E NB=FRUFH ERETHEER/2
BRZESE —_EBk INB=FRUFH REBETLC/NE
RIS _E INB=FRUFH FREEBRI{LC/NE
SRERY —_ 5Bk INB=FRUFH REBERST{/NE
=2 _E INB=FRYFH NAREHNE
ZFHEE _E NB=FRUFH AT PTERREERE/NE
PR B B _E NB=FHRZFH | BERENHZBRYL)\Z
=B —_ 5Bk NS=FRUFH | IBBREASHIORCTNE
FONE _E INB=FRUFH FREERI{LC/NE
RI5MT —_ 5Bk NS=FRUFH | IBBREASHIORCTNE




PR 8 B2 —_EBk INB=FRUFH REBETLC/NE
HIES _EH NB=FHRZFH |IEREEAZSHIOELCTNE
s —_EBk INB=FRUFH REBRT J\%
ERE _EH INB=FRYFH HAREHNE
BRI —_EBk NS=FRUFH | IBBREASHIORECTNE
E1RER —_ B INB=FRYFH HEIWIE/NE
PR IEH #a 5l MAERR @ (Y)
G —_ 5Bk NBTFREFE | EEHRENHIZERLY S
B8 _E NBFRSEFH | BERENHIRY)2
=85 —_ 5Bk NBTFREFE | EEHRENHZERLY 2
X R IEH 2 5 N w4 (Y)
BRPE _E INBFRYFHE IEfEtERE T /2
2840 —_ 5Bk NBZFRYFAE HAREHNE
F=8 _E NBFRLFH |IEREEAZSHVOELCTNE
S —_ 5Bk NBZFRLFAE REBRS{C/NE
=2% _E INBFRY A HAREHNES
=B - NBZFRLFA ERERELCUNE
X H IEH 25 MERR w4 (Y)
RES —_E NB—FHRBEFHE | KBEXEHNB(ENE)
R - NB—FRHEFAE REBRT{/NE
X H IEH 25 MERR 4 (Y)
08 —_E INS—FRY T REBERTLC/NE
1 BR - NB—FRLFH REBRT{/NE
R R —_E INS—FRY T REBERTLC/NE
ZWER - NB—FRLFH REBRT{/NE




REKE

BE&

43

35

23

18

£ KOS [ \S)

REKE

BE&

40

30

10

REMKAE

B

34

32

31

30

28

27

25

24

24

22

20

19

19

el hurgl = [%oN [o- [<-J ENTH [0 S, 1 N [V | N

13

—_
N

7

N
w

REKE

BE&

44

36

34

34

32

31

29

29

28

25

25

23

22

21

el = [7=N [<-H [<-3 ENT [0 o> 30 [, 1 NG [OVH [OVH | O N

19

—_
N

14

14

G RN
w [Ww

13

—
o

ABS

ABS




ABS

REKE

43

21

19

14

ABS

ABS

RIEKE

35

34

34

28

28

19

ABS

REKE

B

33

33

32

32

29

25

23

23

23

21

20

17

13

Ol |IN|oojon|jon || WM N |-

ABS

>
™
(0]

ABS

>
[o9)
w

REMKAE

B

38

N

36

36

34

33

32

31

30

28

20

OO N[O || |w]INN

19

RN
o




REMKAR

e

35

35

30

25

23

22

16

OO |WIN |-~

RIEKE

BE&

38

37

34

33

31

30

29

28

27

22

21

vl = (%N [e-T ENTH [0 3, [N [OVIN | I8 B

20

—_
N

18

-
w

15

—
o

ABS

ABS

ABS

ABS

REKE

BE&

35

34

33

32

27

22

(20 [6; i E- [OVIN 1 V)

REMKAE

B

37

35

34

33

32

32

31

30

29

22

OO N[O |a|jo | |w N

20

RN
o




17 11
15 12
13 13
12 14
7 15
6 16
REMKAR B
32 1
30 2
29 3
RIEKE BE&
31 1
24 2
23 3
21 4
21 4
15 5
REME B
24 1
19 2
REME B
24 1
21 2
14 3
11 4




